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BCM/M-20 12319
CORPORATE ACCOUNTING-II

Paper-BC-401
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least
one question from each Unit. Question No. 1 is
compulsory. All questions carry equal marks.

J&h SHhE H O HA-H-HHA Weh T &1 =94
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Compulsory Question
(eAfrard ue)
1. Answer the following in short :
g °§ I difee e

(a) Mention the precautions while calculating actual
average profit. 4

g 3gd oY 1 MUET w W wraentar
fafEm)

(b) How will you calculate ‘Estimated Future
Earnings’ for valuation of shares? 4

W & oAk & fau ‘srgmifra wrelt s’
& MU fRE gRER HA?
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(c) What is a holding company? 4
=i Ft fhd wed @72

(d) Write a short note on contributories. 4
stererEt W e feoqoff fafem)

(e) Write a short note on Re-insurance premiums
4

qAet Yifam | feouit fafem)
UNIT-1 (SahT3-1)

2. Discuss the methods which are used for goodwill
valuation. Explain the capitalisation method with
the help of suitable examples. 15

fd qeaied & fau w4 o SH areht fafesi
&1 fag=a wifSul e 3fad SSeT & 9eEdr 9
TSR fafer 1 wmemsy)

3. Following is the Balance sheet of X Ltd. as at 31st
March, 2012 :

Particulars 3
I. Equity and Liabilities :
shareholder’s funds :
Equity share capital (10,000 equity
shares of ¥100 each) 10,00,000
Reserves 2,50,000
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Non current Liabilities :
10% debentures
Current Liabilities :
Other Liabilities

Total

IT. Assets :

Non current Assets :
Land and building
Plant and machinery
Goodwill
Current Assets :
Inventories
Trade receivables
Cash at Bank
Current/Non-current assets

Miscellaneous expenses

Total

10,00,000

2,50,000

25,00,000

12,00,000
5,00,000

2,00,000

3,50,000

1,50,000

80,000

20,000

25,00,000

Market value of land and building is 314,00,000 and
plant and machinery 3,20,000. Goodwill is valued
at I3,00,000. All other assets are valued at their
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book values. Average earnings of the company are
%6,50,000 p.a. after interest on debentures but before
tax which may be taken at 50%. Normal rate of return
is similar companies is 10%. Ascertain the value of
equity shares. 15

qfF 3R qa HT IR oI 14,00,0003 3R i 31X
it T 3,20,0003 B1 @A B Gediw 3,00,0002
gl o |t grfeal &1 godieh §Ws Oed R
TN AT H STEd ™ HOTA W SN S ®
YAl W AR H T S 50% HAT ST, 6,50,0003
aiffer 21 ot € o wwfEl § oo W WM

10% Bl HHA A w1 oA @ HIfeQ)

UNIT-II (SehTe-II)

4. How will you prepare a consolidated balance sheet

in case of partly owned subsidiary. Explain with the
help of a suitable example. 15

39: T dlell HeR™e Pl i <9M H 39

5. What is statement of affairs? When is it prepared?

Give a specimen form of this statement and explain.
15

feefg foreror == g 227 U8 we AR feen S €2
79 foeror &1 Tk T ST SR SHe! s Sifsu)
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UNIT-II ( SehTS-II1)

6. From the following balances taken from the books
of Dena Bank Ltd. You are required to draft as at
March 31, 2014 (a) a Balance sheet and (b) a Profit
and Loss Alc. 15

o, frefafea oof @ s 3 o fafies =t g
¥ fow mu ¥, 31 A, 2014 W (31) TH FAST SR

(d) Wk ¥ B ©ar &+ €

Share capital (Authorised and issued)

—10,000 shares of Rs 100 each,

Rs 50 paid 5,00,000
o St (stfuspa o fifaa)

1003 are 10,000 2791, 59 W

503 qmaE few T

Reserve funds (EfEd W) 3,50,000
Fixed deposit accounts 9,50,000
(zurft fAgiw @)

Saving Bank account (s=d d& freT) 30,00,000
Current accounts (=TT ) 80,00,000
Money at call and short notice 3,00,000

(AT SR 3Ty gEAl W OUTE i)
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o N

Investment at cost (fafF=T <mma @)  30,00,000
Interest accrued and paid 2,00,000

(IS SAfSid T oIam)
Salaries (including salary of General

Manager 324,000 and Directors’
fees ¥5,000) 80,000

. 2
gdq (3R T HASK I

a9 24,0003 3T HHTCTR! ol
B 5,0003 GiHfead 7)

Rent (fomam) 20,000
General expenses including stationary
¥5,000 and Auditor’s fees 32,000 10,000

TE 2 (' 9T 5,000%
AR SRR HT B 2,0003 WHA T)

Profit and Loss account (cr.) on
1st April, 2013 2,10,000
(e ' @rar ($fee) 1 3md, 2013

Dividend paid (@91 f&AT)  (for 2012-13) 50,000

Premises (after depreciation of I1,00,000
upto 31st March, 2013) 12,00,000

ToH-31 HE, 2013 9% & fau
1,00,0003 BH HEAd & %)
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Cash in hand (fl%g. TE) 60,000

Cash with Reserve Bank 15,00,000
(fod o & a9 Uwg)
Cash with other banks 13,00,000
(3= d% & TH UHg)
Borrowe from Banks (éﬁ e} EU)) 7,00,000

Interest and discounts (SN TH Fard) 7,50,000
Bills discounted and purchased 6,00,000

(fea 9w wg %I &)

Bills payable (33 fae1) 8,00,000
Loans, overdrafts and cash credits 70,00,000
(&1, Afufgwd R THg 9@

Unclaimed dividends 30,000

(4 9T AT AT

Sundry creditors (Tafay ATER) 30,000

Bills of collections (¥UE 7q foal) 1,40,000

Acceptances and endorsements on

behalf of customers 2,00,000
(UEehi & AR 9 WiHfdal @ <=M)

Rebate on bills discounted and purchased for

unexpired term amounted to I5000. Allow 5%
depreciation on premises on original cost. A provision
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for doubtful debts amounting to 330,000 is required.
Create a provision of ¥1,00,000 for taxation. Bills of
exchange rediscounted amounted to I24,000. The

bank has no business outside India.

AT BT R %A foey U foell W osTEWT e
5,00031 W i Hd ANd W 5% TE MR Hiy
i & fw 30,0003 1 AESH HIfGU FR '
1,00,0003 1 ESH FARY TF: AT TC o st i
240003 T Sk HI GRA P dEL HE AUR @l 2

7. Explain the “Non performing assets” in banking

company. 15

Sfer et H sTgcaredta gefadl ol gHEEu|
UNIT-IV ( ShT3-1V)

8. Give a performa of the revenue account of a General

insurance company alongwith necessary schedules.
15

Ueh HHA SH AT & E= @ &1 Y&y 69
sTgf= gfea S

9. Discuss the order of payment adopted by a liquidator.
Also discuss the methods of calculating the liquidator’s

remureration. 15

e g ST S el M % ShH Rl 90
FHifSy don FearRe & TiRgfys &t TOAT S HT

fafoai of ww=mEU
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